BOOKS PURCHASED DEPARTMENT OF ECONOMICS (2018-2019)

SI No.	TITLES	AUTHOR	COPIES		PRICE	AMOUNT
1		И.L. Taneja	2	Rs	1200.00	2400.00
2	Economics of Development and Planning 17th Ed. 21360 - 62	S.K. Misra	3	Rs	1995.00	5985.00
3	Economic Development 21420 – 22	M.P. Todaro	3	Rs	799.00	2397.00
4		C. Kolstad	1	Rs	700.00	700.00
5		R.N. Bhattacharya	2	Rs	295.00	590.00
6		D.N. Dwivedi	3	Rs	645.00	1935.00
7		R. Cornes	3	\$	77.00	15800.40
8		V. Buchholz	2	€	139.99	23266.34
9		S.P. Gupta	1	Rs	595.00	595.00
10	Basic Mathematics for Economists , 2nd Ed. $21412-13$	И. Rosser	2	Rs	995.00	1990.00
	9		22			
	CC of the Virginian of					
	GST EXEMPTED ON "PRINTED BOOKS"					
	Under Section 23 of GST Act 2017					
	Chapter 49, HSN Code 4901					
	(RUPEES FIFTY THOUSAND ONLY)	Mgencie				
£ = Rs. 93.20, \$ = Rs. 68.40, € = Rs. 83.10		The The		9	SUB TOTAL	55658.74

BOOKS PURCHASED FOR DEPARTMENTAL LIBRARY DEPARTMENT OF ECONOMICS (2018-2019)

SI No. TITLES	AUTHOR	COPIES	PRICE		AMOUNT
Economics of Development and Planning 213 53 - 35	M.L. Taneja	3	Rs :	1200.00	3600.00
Economics of Development and Planning 17th Ed. 2 1358 - 59	S.K. Misra	2/	Rs :	1995.00	3990.00
Economic Development 21418 - 19	M.P. Todaro	2.	Rs	799.00	1598.00
Intermediate Environmental Economics 2nd Ed. 21382 - 8	C. Kolstad	4	Rs	700.00	2800.00
5 Environmental Economics: Indian Perspective 21387 - 89	R.N. Bhattacharya	3	Rs 2	295.00	885.00
Macroeconomics: Theory and Policy 20th Ed. 21363 - ゟチ	H.L. Ahuja	5	Rs 5	595.00	2975.00
7 Keynes and Post Keynesian Economics 2/378 - 79	R.D. Gupta	2	Rs 4	450.00	900.00
8 Macroeconomic Theory 21392 - 95	M. Maria	5	-	325.00	1625.00
Macroeconomics: Theory and Policy 4th Ed. 21368 - 2135 69	D.N. Dwivedi	2	Rs 6	645.00	1290.00
Macroeconomics: Theory and Policy 3rd Ed. 1373 , 21373 - 21377	W.H. Branson	5 .	ASSESSMENT OF REAL PROPERTY.	175.00	2375.00
11 The Theory of Externalities, Public Goods, and Club Goods 2nd Ed. 21397 — 98	R. Cornes	2	NAME AND ADDRESS OF THE PARTY O	77.00	10533.60
12 Analytical Public Finance 21402 -04	S. Mukherjee	3	Rs 3	350.00	1050.00
13 Public Economics in India: Theory and Practice 2nd Ed. 21405 - 21405	J.R. Gupta	5	Rs 1	195.00	5975.00
14 The Theory of Externalities, Public Goods 21417	W. Buchholz	1	€ 1	139.99	11633.17
15 Monetary Economics 21380 -81	R.R. Paul	2	ARTERISA DE LA CARRESTINA DE LA CARRESTI	25.00	_* 850.00
16 Statistical Methods 21410	S.P. Gupta	1	Rs 5	95.00	595.00
17 Basic Mathematics for Economists, 2nd Ed. 21414 - 196	M. Rosser	3	Rs 9	95.00	2985.00
		50			
GST EXEMPTED ON					
"PRINTED BOOKS" Under Section 22 of GST Act 2017				5.00	
Chapter 40, HSN Code 4901					
(RUPEES FIFTY THOUSAND ONLY)	Jook Agent				
£ = Rs. 93.20, \$ = Rs. 68.40, € = Rs. 83.10		<i>)</i>	SL	JB TOTAL	55659.77